Kctivity Sheet: KS2
COUNTING IN MULTIPLES

Q‘I) If there are four eggs in each nest, how many eggs will there be in total?
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QZ) If there are three eggs in each nest, how many eggs will there be in total?
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Q 3) Each year Polly the peregrine lays three eggs in her nest.
Count in two's to find out how many eggs she’ll have after nine years.
You can draw the number of eggs in nests below to help you.

Draw out the nest in the box below to help
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04) If there are two eggs in each nest, how many eggs will there be in total?
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